Page 4
Draft prETS 300 ???: Month YYYY


3GPP TSG-RAN WG2 #83

 

R2- 132870
Barcelona, Spain, 19 - 23 August 2013

Agenda item:
6.1.1
Source: 
LG Electronics Inc
Title: 
Clarification of event A4 trigger in case of CA
Document for:

Discussion
1 Introduction
This paper clarifies whether Scell can trigger event A4.  
2 Discussion
During IODT (development pahse verson of IOT), different opinion was identified regrading whether SCell can trigger event A4. Our view is that SCell cannot trigger event A4 as clearly specified in section 5.5.4.1 of TS 36.331 below.   
	5.5.4
Measurement report triggering

5.5.4.1
General

The UE shall:

1>
for each measId included in the measIdList within VarMeasConfig:
2>
if the corresponding reportConfig includes a purpose set to reportStrongestCellsForSON:

3>
consider any neighbouring cell detected on the associated frequency to be applicable;

2>
else if the corresponding reportConfig includes a purpose set to reportCGI:

3>
consider any neighbouring cell detected on the associated frequency/ set of frequencies (GERAN) which has a physical cell identity matching the value of the cellForWhichToReportCGI included in the corresponding measObject within the VarMeasConfig to be applicable;

2>
else:

3>
if the corresponding measObject concerns E-UTRA:

4>
if the ue-RxTxTimeDiffPeriodical is configured in the corresponding reportConfig:

5>
consider only the PCell to be applicable;
4>
else if the eventA1 or eventA2 is configured in the corresponding reportConfig:
5>
consider only the serving cell to be applicable;
4>
else:
5>
consider any neighbouring cell detected on the associated frequency to be applicable when the concerned cell is not included in the blackCellsToAddModList defined within the VarMeasConfig for this measId;

5>
for events involving a serving cell on one frequency and neighbours on another frequency, consider the serving cell on the other frequency as a neighbouring cell;


The highlighted part above is to enable SCell to become a trigger of event A3 and A5 as neighbouring cell, and this is not applicable for event A4. As a result, for event A4, SCell remains as a serving cell, and it cannot trigger event A4.  . 

Proposal: 
RAN2 confirm that SCell does not trigger event A4 because SCell is not considered as neighbouring cell for evaluation of event A4.
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